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1. Which among the following advocates centralization and hierarchy, but also stresses
that leadership should balance equity and esprit de corps?
(A) Fayol’s Principles (B) Bureaucratic Theory
(C) Behavioral Theory (D) Scientific Management
2.  Assertion — Reason :

A : Contingency theory rejects the idea of “One best way”.
R: It adapts to different situations.

(A) Both true, R explain A

(B) Both true, R does not explain A

(C) A true, R false

(D) Afalse, R true

3. Statement — Assumptions :
Statement : “Informal communication exists in every organization”.
Assumptions :
1. Employees form social groups.
II. Informal system always harms efficiency.
(A) Only I assumed (B) Only II assumed
(C) Both I and II assumed (D) Neither I nor IT assumed

4.  Assertion — Reason :
A : Organizational culture affects performance.
R: Shared values shape behavior.
(A) Both true, R explains A
(B) Both true, R does not explain A
(C) A true, R false
(D) A false, R true

5.  Statement — Assumptions :
Statement : “Trait theory says leaders are born”.
Assumptions :
1. Leadership qualities are innate.
II. Leadership skills cannot be developed.
(A) Only I assumed (B) Only II assumed
(C) BothI and IT assumed (D) Neither I nor IT assumed
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6.  Assertion — Reason :
A: Max Weber advocated bureaucracy for efficiency.
R: Bureaucracy ensures clear rules, hierarchy and merit-based promotion.
(A) Both true, R explains A
(B) Both true, R does not explain A
(C) A true, R false
(D) Afalse, R true

7. Match the following :

Mechanism _ Function

Social Audit - Citizen review
Judicial Review - Legal check
Ombudsman - Complaint redress

Which mechanism best suits monitoring local programs?
(A) Social Audit (B) Judicial Review
(C) Ombudsman (D) Zila Parishad

8.  Citizens file an RTI application to know details of budget spending. Which principle of
good governance is applied?

(A) Transparency (B) Accountability
(C) Equity (D) Rule of law

9. Statement : “E-governance improves service delivery.”
Conclusions :
1. It reduces delay.
II. It always ensures equality of access.
(A) Only I follows (B) Only II follows
(C) Both I and II follow (D) Neither I nor II follow

10. After joining a highly competitive organization, an employee constantly seeks praise for
achievements and status symbols. Which need is most active?

(A) Self-actualization (B) Esteem
(C) Belongingness (D) None of the above
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11. According to Mintzberg, which of the following is NOT a decisional role of managers?

(A)
(©)

Entrepreneur Resource allocator

B)

Disturbance Handler (D) Monitor

12. The contingency approach to management emphasizes that :

(A)
(B)
(©)
D)

There is one best way to manage
Managerial actions depend on situational factors
Employees must always follow rules

Scientific management principles apply universally

13. Which among these principles is central to Total Quality Management (TQM)?

(A)
B)
©)
D)

Rigid control over employees
Customer focus and continuous improvement
Strict supervision

Cost reduction at all levels

14. The utilitarian approach in ethical decision-making proposes to consider :

(A)

(B)

©)
D)

the effect of each decision alternative on all parties and select one that
optimises the greatest number of people

an action which is intended to produce a greater ratio of good to bad for an
individual
standards of equity, fairness and utility

decision that best maintains the rights of those affected by it

15. Which of the following situations BEST reflects the principle of “Unity of Command”?

(A)

(B)
(©)

D)

An employee receives instructions from both HR and operations heads
simultaneously

A team member is encouraged to follow multiple mentors

An employee receives orders from a single supervisor for clarity in
responsibility

Employees are left to self-direct their activities

-6- A
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16. Which among the list is NOT included in the classification of technology by James

Thompson?
(A) Intensive technology (B) Mediating technology
(C) Long-linked technology (D) Long-batch technology

17. Which of the following is NOT a matching pair regarding leadership styles?
(A) Michigan studies — Middle of the Road
(B) Managerial Grid — Country Club
(C) Ohio State Studies — Initiating structure

(D) Tannenbaum and Schmidt’s Continuum — Authoritarian Leader

18. Scalar Chain primarily refers to :
(A) The vertical flow of authority and communication from top to bottom
(B) Encouraging Cross-communication in organisations
(C) Employees should only communicate through informal network chains

(D) A network of decisions made collectively by employees

19. Which Indian authority is responsible for monitoring CSR compliance under the

Companies Act, 2013?
(A) NITI Aayog
(B) Ministry of Finance
(C) Ministry of Corporate Affairs

(D) Securities and Exchange Board of India (SEBI)

20. Predicting various future outcomes and making plans is described as :
(A) Contingency Planning (B) Scenario planning

(C) Forecasting (D) Benchmarking



123/2025-K

16. e pooxk ¥ ¥BT SoBges SNeesTeRY) adred Bedobd JedTereNy?
D) 33 So3ges (B) D33 S0
(C) Bezr-Todeeddd 303z D) &ea’xs—méza‘ 30350

17.  oah38, 3,0rer BowoddBos & SYNSINYE wrREID Beomesdairerdede!?
(&) WURRF B[ - S BFmn
(B) B,3x83 NG - B0t 3
(C)  tkokoe Tazy ©FAHINW - HYBODS T
D) SRFFRBS D) O, A03T3 - BerHzd Tk

18. &0 4, @9 BEmN AT, ARVBDIT:
(A)  eDJ0T B8, whTT DR) JoTBIW Vo) BOY)
(B)  ToINYO v3-TFoTBIS, 3,633, DI
(€)  WERENNW Hw08 Bt ICBINY BT BB, VoSBS SBTeIeD
D) VBREANY T dbsSmeN SHDBRARE APFTNY v

19. 30BANY Sead), 2013 B BDO YRDHTTHAD WBWDY AOTSTF HDHITHALRY HedRI0E SRS
%@e2330 adredd Qeddead) @9 RFCwINS?
(A)  Qed esodeen
B) Doz TdToad
(C) BoRprdets® F@SHONY Jedeowrad
(D) eddead FehTetd DR AR SR (JFD)

20. PIFT AP FOBo0TMHRY, BN DR 3eeRINYRY ARIDITBIY, Sert JS0JeroNT :
(A)  883,3 ddeeas (B) SBYSe3B aleen
O D3B3 (D) Se3B03



123/2025-K

21. Which of the statement(s) is/are correct about the Preamble of the Indian Constitution?

(1) The Preamble declares India to be a Sovereign, Socialist, Secular, Democratic,
Republic.

(1) The words “Socialist” and “Secular” were part of the original Constitution of 1950.
(111) The Preamble is considered an integral part of the Constitution.
(iv) The Preamble can be amended under Article 368.

(A) Options (i), (i1) and (iii) are correct

(B) Options (i1) and (iii) are correct

(C) Options (1), (i11) and (iv) are correct

(D) All of the above

22. Which of the statement(s) is/are correct about the Rajya Sabha?
(1) Rajya Sabha is a permanent house and is never subject to dissolution.
(1)  One-third of the members of Rajya Sabha retire every second year.
(111) The Vice-President of India is the ex-officio Chairman of the Rajya Sabha.

(iv) A Money Bill can be introduced in either House of Parliament, including Rajya
Sabha.

(A) Options (1i) and (iv) are correct
(B) Options (i), (i1) and (ii1) are correct
(C) Options (1) and (ii1) are correct

(D) All of the above

23. Which of the statement(s) is/are correct about the Governor of an Indian State?

(1) The Governor is appointed by the President of India.

(11) The Governor holds office for a fixed term of five years and cannot be removed
before that.

(111) The Governor acts as a constitutional head of the state and functions on the aid
and advice of the Council of Ministers.

(iv) A Governor may simultaneously be appointed for more than one state.
(A) Options (11) and (iii) are correct
(B) Options (1), (i11) and (iv) are correct
(C) Options (i) and (i1) are correct
(D) All of the above

-10- A
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24.

25.

26.

Which of the following is the correct chronological order of Presidents of India?

@)

(i)
(111)
(iv)

Dr. S. Radhakrishnan
Dr. Rajendra Prasad

Dr. Zakir Husain

V. V. Giri
(A) (i), (), (iii) and (iv) @B) (), (i), (iii) and (iv)
(C) (i), (iii), (i) and (iv) D) (i), (ii), () and (iv)

Which of the statement(s) is/are correct about the Fundamental Duties?

()
(i)
(111)
(iv)

Fundamental Duties were added by the 42r Constitutional Amendment Act, 1976.
They are listed under Part V of the Constitution.

At present, there are 11 Fundamental Duties.

Fundamental Duties are not enforceable by law.

(A) Options (1) and (i1) are correct

(B) Options (i), (ii1) and (iv) are correct

(C) Options (11) and (iii) are correct

(D) All of the above

Which of the statement(s) is/are correct about Parliamentary Privileges?

()
(11)

(iii)
iv)

Parliamentary privileges are provided in Articles 105 of the Constitution.

They include freedom of speech in Parliament and immunity from legal

proceedings for speeches made in the House.
These privileges are codified in detail by a specific law passed by Parliament.

Parliamentary privileges are essential to ensure independence and effectiveness of

legislative functioning.

(A) Options (i1) and (iii) are correct
(B) Options (i) and (iv) are correct

(C) Options (1), (11) and (iv) are correct
(D) All of the above

-12- A
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27. Who was the first woman to become the President of India?

(A) Sarojini Naidu (B) Pratibha Patil

(C) Indira Gandhi (D) Sonia Gandhi

28. Under which Article of the Indian Constitution can Public Interest Litigation (PIL) be
filed in the High Courts?

(A) Article 32 (B) Article 136

(C) Article 226 (D) Article 368

29. Which of the following Indian States does not have a State Legislative Council?
(A) Uttar Pradesh (B) Maharashtra

(C) Bihar (D) Tamil Nadu

30. Which of the following writs is not explicitly mentioned under Article 32 of the Indian

Constitution?
(A) Habeas Corpus (B) Mandamus
(C) Quo Warranto (D) Injunction

31. To whom does the President of India address his/her resignation letter?
(A) Prime Minister of India (B) Vice-President of India
(C) Chief Justice of India (D) Speaker of Lok Sabha

32. Under which Article of the Indian Constitution is the office of the Prime Minister

mentioned?
(A) Article 74 (B) Article 45
(C) Article 56 (D) Article 87

-14- A
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33.

34.

35.

36.

Which provision of the Constitution of India empowers the Parliament to legislate with

respect to any matter in the State list if a proclamation of emergency is in operation?
(A) Article 250 (B) Article 252
(C) Article 254 (D) None of the above

Enforcement of which among the following fundamental rights cannot be suspended
during proclamation of emergency?

(A) Article 14 and 20 (B) Article 19 and 20
(C) Article 20 and 21 (D) None of the above

Who is the 26th Chief Election Commissioner of India?
(A) Dr. Sukhbir Singh Sandhu (B) Shri. Gyanesh Kumar
(C) Shri. Ajaykumar (D) Shri. Narendra Kumar

No person who 1s a member of a civil service of the Union or an all-India service or a civil
service of a State or holds a civil post under the Union or a State shall be dismissed or
removed by an authority subordinate to that by which he was appointed. This clause

shall not apply

(1) Where a person is dismissed or removed or reduced in rank on the ground of

conduct which has led to his conviction on a criminal charge.

(i1)) Where an authority empowered to dismiss or remove a person or to reduce him in
rank is satisfied that for some reason, to be recorded by that authority in writing, it
1s not reasonably practicable to give to that person an opportunity of showing

cause.

(i11) Where the President or the Governor, as the case may be, is satisfied that in the

interest of the security of the State it is not expedient to hold such inquiry.
(iv) All the above

A B) @)

(€) (i) D) )

-16- A
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JBI0NDS VBT wBR,E3 T TG BALY Jeri0s BT, B oD adregdife SBob
OB  JeDBIRoB TYPTTE,  RITODT  T9TCY) — TLrePTeTD)  PDe
BR300, B BOR) 9,0
() EDI* sdeead e dFr So0nmed IBIaD B8redd e FBabY SwrtePITT

EDe SNDTSTT WGe J)eedadhd) 3B FeBTT.

(i) o) dééobd& TBrte PV T SNTDTBL) FDe ST B)ee3ahd) BBDD TveBe QST
BRODDS ©9PFTY) &8 ©YPBITY) ODSweN WedTIesTE WreTe STz, N, &8 B3rt
Fo06TY, SeeOWT  WTBZBI, ARBDIYD  JDowIJTN  HYyaleeNBDeNY  doTd
3)QaBATT.

(i) 0 BINW VFD TIVIVD, TOBIEDTIT, ToRyB PP H3TF)dWod o3z
NITHARY SBDIHTD FeBSY dotd SHIBOS Sre8B8e0TT.

(iv) DedI av)Zp
A @ ®) @)

(C€) (i) D) @)
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37. Article-317 deals with
(A) Removal and suspension of a member of a Public Service Commission

(B) Power to make regulations as to conditions of service of members and staff of

the Commission
(C) Post-Retirement Employment Restrictions of PSC members

(D) Functions of Public Service Commissions

38. Doctrine of occupied field is related to the interpretation of
(A) Article 14

(B) Article 21

©)
D)

Article 254

None of the above

39. Who is the Chairperson of GST Council?

(A) Prime Minister

(B) Union Finance Minister
(C) President of India

(D) None of the above

40. Judicial review by the high courts was held to be included in the basic structure of the

constitution of India in

(A) Kesavananda Bharati v. State of Kerala

(B) Minerva Mills v. Union of India

(C) S.P. Sampath Kumar v. Union of India

(D) L. Chandra Kumar v. Union of India and Others
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37.  oeded-317 2T W} FSHODST
(A) s Jewve 80deent SBIJORY, SrDBDID D) WereSBrie DI
(B)  esaleenad IBID D) d2),00NRY Seevo STMY 2O AobYR), Se3bE whzeT
(€) AB)3ab So33B PSC IBJ3 evdaen Qeognwd
D) ToTeRAB Jewe e803eenneY Foohenw

38. 33 33T c%ago@d) méméséé oo :
(A) @nged 14
B) eﬂmaged 21
©) eﬂnged 254
D) DeOIZINRYY areIde e

39. BomE 0BV OFID drech?
@) Zoos Do,
(B) 8o, Brzomd SIS
(C) 2033 FED
D) eIV AreRTe By

40. éééraeea‘rrw mzso:baoﬁ 68%&05033&% Q038 BoPeRT Bwew TUES0he) TedTeraNS oo
3R NRVTNG

(A) BeBDS0B 908 v. BeTY Doty

(B)  DJZeE DO v. 903 ,BR,E3
(O) oFF.d. JoTF BTV’ v. J0S 08R,E3
(D) e, 2308) BTTATE v. JoT3 BR,E3 DI) RSTH
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41. Kerala faces a growth paradox because :
(A) Strong exports but low remittances
(B) Agriculture dominates GSDP
(C) Low literacy but high income

(D) High human development but weak industrial base

42. Kerala government’s own-tax revenue share compared to the all-states average :
(A) Lower than average (B) Higher than average

(C) Equal to average (D) Negligible

43. Which of the following statements about Kerala’s government expenditure composition

are correct?
(1) Salaries, pensions and interest payments consume a major share of expenditure.
(2) Capital expenditure consistently dominates over revenue expenditure.
(3) High committed expenditure constrains fiscal flexibility.
(A) (1) and (2) only
(B) (2) and (3) only
(C) (1) and (3) only

D) (), (2) and (3)

44. Which feature BEST describes Kerala’s industrial sector historically?
(A) Capital-intensive and technology-driven
(B) Small-scale, resource-based and low-tech
(C) Dominated by multinational corporations

(D) Export-oriented heavy industries
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41. 3eBYY) W¥Tedriod ITeeraoIT, SDHODIT HB0TT :
(A) om3 Iy) B8TT 3B B TFOS
(B) B)day BaxFBIabE) mawe) BP0
(C) 3BBD TegTS 8TT T3S 8Tl
D) TS o3 eﬂzﬁbq)&@ SlaloRAVAIZIR-Narlel.DIN)

42. oo RV FOIRON BREDITT Be0Y TEFTT T,03-BOr BTIANT Boew -
(A) ToONOSB 3B
(B) R0ez0N03 Bed)
C) Roedn e

D) ney,

43. Be3Y3 35r0 YT TodeeSod OB B 3PNI cdred ®eeBriwy JOWreNS?

(1) DBo¥nwd, 308N DR VB DoSSAW JYT FSwa) DO, WYDST.
(2) woBwe¥ S ICo3TeN Bwead 533,03 GRYATOR BRPODT.
(B) BYR w8 YD BesBodR IBDRY, AWFRHIT.

@A) 1) DR (2) I5e3,

B) (2) DR (3) e,

©) 1) DI (3) 93,

D) @), @) DR (3)

44. 3edYa3 3;medze SwLTIRY D3TaIBTN 0T F;2F, & LLITTN IBODI?
(A)  woBDeY-3ed) DI) 03ge3-23003
(B) R-Be68, BoBRR,L-635008 DE) BB -BoBRF
(&) ao@oao%&yeoi) 50m—’®rﬁ@od TR

S
(D) Ox)-e85003 2500¢ 8ém88mb
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45. Which of the following statements about the role of foreign remittances in Kerala are

correct?
(1) Remittances boosted industrial investment significantly.
(2) Remittances were largely channelled into housing and consumption.

(3) Remittances improved human capital through health and education spending.
(A) (1) only
(B) (1) and (2) only
(C) (2) and (3) only
D) (), (2) and (3)

46. What has been the MOST significant impact of remittances in Kerala?
(A) Reducing dependence on agriculture
(B) Strengthening state government revenues
(C) Creating large-scale manufacturing jobs

(D) Making Kerala’s economy export-led

47. Which of the following statements BEST describes Kerala’s demographic changes?
(A) Rising fertility and high population growth
(B) High infant mortality and youthful population
(C) Expanding workforce due to population boom

(D) Declining fertility and ageing population

48. Kerala’s employment data show that agriculture employs far more people than its share
in GSDP. What does this mismatch imply?

(A) Agriculture is highly productive
(B) Labour is under-employed in agriculture
(C) Industrialisation has absorbed surplus labour

(D) Kerala’s economy is still agrarian
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45. 3e0Y3Y ITed Bes ST ab e T DOD) B PN e FePINRW JOWreNS?
(1) ®& Sedaln 33030 BRBBADRY NeHTBEIIN B2 AD.
(2) ®& SZSabRY, BN SIS D) WS BOTT A,

3) esdraerﬁzs D) dges T T Swewd Ted ToS0d BTIIT WOBDYB), WPOID.
@) (1) @03 ® (1)@ (2) 3
© (2 = (3) 23, D) (1), @) D3 B)

46. 3eOVEY B0 CFab 3,08 HTIE FOTRTeD?
A)  Faab Heds ezvRRbRY 38 TRV
(B) 0o, SE9FO0 STONTRY, WOBBRIT
(C) TrG BET0E cUBA TP eUTReNNVRY ByARIT
(D) e0vs sBr33aba 05633 9DID

47. 8 3YNS ared BePBRW Be0YE 2IFoarsy WBIITHNYRY, evZheeN ISODIeS?
A) BDIDS FUSSS DB BN BIFowy, LIYSe3rt
(B) LS 2B SHTes @) odwas B0,
©) aﬁﬁomﬁs V3, @ DoweN Seadhr Wb ITTEH

D) 3esDIDE FUSIB DI BhrRB BT,

48. BeBY3d eudinen B32038) Z)dodn GSDP obd 33 ©9ON03 38 S B3IV, SechdBroBE oowd
ZpeODTT. B85 WTIDTID) I, Fe3DII?
A)  3A T, evZ BBZNT
(B) Bdabh) B30t BB svtieEndd
(C) 3;m003e80eY) Bed) SO FoDFBTRY, &edBpW 33
(D) Be3L3 esBEB3 W @a’.@( se)& BPoRDNT
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49. Consider the following data on Education and Employment in Kerala :

Education Level Share in Labour | Unemployment Rate
Force (%) (%)
Below secondary 40 4
Secondary/Higher secondary 35 10
Graduate and above 25 18

Which conclusion is MOST valid?
(A) Kerala’s unemployment problem is concentrated among the educated
(B) Higher education guarantees employment
(C) Less educated workers face the highest unemployment risk

(D) Unemployment rates are evenly spread across groups

50. Kerala’s poverty level is the lowest in India (Multidimensional Poverty Index = 0.002).
Which interpretation aligns BEST with this finding?

(A) Kerala has the highest per capita GSDP among all states
(B) High remittances alone explain the poverty reduction

(C) Strong social provisioning and human development outcomes sustain low

poverty

(D) Kerala’s fiscal deficit is minimal compared to other states

51. Kerala’s net sown area has steadily declined since 1980-81. Which policy concern arises

from this?
(A) Decline in agricultural exports
(B) Increasing employment in agriculture
(C) Decline in rainfall patterns
(D) Urbanisation and land-use change impacting food security
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49. Be3YRY 36 D) suEREnT OB B YN BeeaB:Y, BONe3d:

b80 e Tecbes woae) (%) AERen B3 (%)
APISY)
S5, 038,08 BBD 40 4
0GB/ VR B &G DB 35 10
BB B B, 25 18

e BeoFREY Bed) Wrom@ING?
(A)  3e0YE ADERLR BT, ITYF0STY Beod)ed)BeaNe
(B) o033 33ma) eusn,enaR sE0aBST
(C) 888 ARE03 BFED Be3S IDTRer BTADBR) dBODIT
(D) IhBRger BoRw RNV Bz BSBE

50. 303 WBBT DI WeTSTY W08 BBHNG (BBSIVDT WBBI Feed 03 = 0.002). B
SoZperdSaleodrt ddred &y RD) svdehaeN BeodBRWN,SE?
A) o oazigri%}eg Be0YY) vde Tad), v GSDP @eodd
(B) TR B9 FoINW S8, BB BBIBSY, ASODIS
(C) w8 ToTeRdd BPTB DB IS ©NB)Y FOTe0TMR BBD WBIIDIY,
VOIBRRBS
(D) 23T veROrf BeeAIWT BeTHR BEBdN BT3B BBZING

51. 1980-81 dod 3e3¥d AFY VST e TN 3BDHAWNG. VW00 ared Jed Fo¥d
VT ADSI?
A) 3)d Bg) A3
B) 3R emdraéeﬁ G AT
(C) Db Se3dab) 233
(D) T3 LBFBadh et BOFRD VDS SInOe3Te DR e WY3aD WBUTEH
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52. Kerala’s irrigation statistics show wells are the largest source of irrigation. What is the

critical implication of this reliance?
(A) Dependence on rainfall has increased
(B) Groundwater depletion risks make agriculture unsustainable
(C) Irrigation is evenly distributed across all sources

(D) Kerala no longer requires government canals

53. The 2025-26 Budget of the Kerala government emphasizes reducing fiscal stress
primarily through :

(A) Mobilising higher own-tax revenue
(B) Expanding foreign loans
(C) Reducing welfare expenditure

(D) Cutting education spending

54. Kerala’s fiscal deficit target for 2025-26 is around :
(A) Below 1% of GSDP
(B) 1-2% of GSDP
(C) 3.4% of GSDP
(D) 4.1% of GSDP

55. Which measure reflects Kerala’s focus on climate resilience?
(A) Large-scale coal-based power projects
(B) Renewable energy and green transport initiatives
(C) Deforestation to expand agriculture

(D) Reducing investment in coastal protection
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52. 3e0YT T30 ©9030BNW WdRW Jevo3dadh ©de degd Dwewdord BeedDII.
£9300VTD J@eradh3d BOHIDBED?

D) DFD DedS B0 B3NS

(B) ©o3uru JSBP w@eohnwd Ao, DT PO
(C)  QevezmdabRY avy wonwd JeheeN ISOJIUNT
(D) Bed¥3, A Swod Izerd Sondny @rﬁéﬁsc‘.’)om

53. eV TEIrOT 2025-26 WHELF BHEIN LIBIRY, BB ARG TaTN 2:3) ARDIT:
A) B3R 503-30rt smRahTSR) TRt FDDT
(B) Aded moonv) AYODI
©) B TS, 30D SRV
D) g I3, 3BSrIDID

54. 2025-260 3e3¥3 BFAN BpT30h O ST :
(A)  GSDP o 1% 3,03 38
(B) GSDP ab 1-2%
(C) GSDP ab 3.4%
(D) GSDP ob 4.1%

55. 3eO¥d MDS Booeos QSTIRBIB, 0008 W¥E & 3VoDDITI?
A) Beg Breensd 303w 8redd T leedSHiw
B) SIeBOTWBRTR ROBS DR BID TOT HVBBRL
€)  BAaDIY, IBOBJew @dsaémzs
(D) BovS? TFHADY BABZDRY BBD SWDJD
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56. Which among the following explains the paradox of the Kerala model?

(A) High unemployment despite high literacy and social development
(B) High industrialisation but low per capita income

(C) High per capita income but low inequality

(D) High birth rate and low infant mortality

57. Which of the following are part of Kerala’s Startup Mission initiatives to promote
innovation?
(1)  Innovation Grant
(1) R&D Grant
(111) Technology Commercialisation Support for Women
Options :
(A) (1) only (B) (@) and (ii) only
(C) (), (11) and (ii1) (D) (1) and (iii) only
58. Which factor most strongly distinguishes Kerala’s development experience from many

other states?

(A) High income inequality

(B) Social development first, growth later
(C) Export-led manufacturing growth

(D) Heavy privatisation of education

59. The rise of the knowledge economy and startups in Kerala is often referred to as a move

towards :
(A) Agricultural self-sufficiency
(B) Brain drain
(C) Brain gain and innovation-led growth
(D) Decline of remittances

60. Kerala’s life expectancy, according to SRS data, 2019-21, is approximately :

(A)
(©

B)
(D) 82 years

63 years 69 years

75 years
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56.

57.

58.

59.

60.

81 BYNIYNPY roITD BeTY e300 ITRePRIIIBY, ISODST?
(4) LS TZ03 DA Dotz WYT)QYod TeTTNWWe BYS AhTRer
(B) 3 B;me03e3Te T3 3B 3o eswead

(O) TP Sue 8weah STV 3BD ITITI3
D) TR 23 FSre6 DR) 3B 3B STed

T BoDRY, LVBRTeD BeTYT D EFFOR” DAV’ VBTN 2eN@eNDS ©oBNW adredy?
@) mc‘:)eséé ORI

(i) o0 & & DTS

(iii)  SBHYDHOrT BoB)zzeR w0ede€BTe 2o

esaky, e -
A) (@) g, B) Q) DR (i1) e,
©) @), (i) S (iii) D) () D (iii) @e3,

3e0¥3 YB)R) PIBBY, ST BOPH) TR IP0T A 03P Ted), wwEeN BB eSHIT?
A) TS 803 ITII3

(B) Seden Tosedd 00, 3033 ISl
(C) TR)-Ie3)3,3 vz Be LBLP3edr
(D) 233 230e womNesTed

3e0YRY R 6BFE3 D) IIBRNY HOZhRY BeRN T 33N wodD B 20D
SBaberHIT -

A) By T9,BO0NT

B) T3y DU

C) B3 U9 DR T B-IeB)B,T LIFSedr
(D) @t T 293

2019-21 O QRFST OX® BeeIo B,590, 3eTYR ReFTo3Y FODITd) :
(A) 63 3RERYD (B) 69 IR0
(C) 75 33D (D) 82 IIeND
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61. Which programme is Kerala’s flagship initiative for women’s empowerment?

(A) Kudumbashree (B) Beti Bachao Beti Padhao
(C) SEWA (D) Janani Suraksha Yojana

62. According to NITI Aayog’s Health Index 2021-22, Kerala’s Infant Mortality Rate (IMR)

is:
(A) Higher than the national average (B) Lower than the national average

(C) Equal to the national average (D) Not recorded

63. Which of the following was not among the four missions of the 13th Plan?
(A) High-quality school education
(B) Aardram-—people-friendly health facilities
(C) Haritha Keralam — environment-friendly development

(D) Digital India Mission

64. According to the CDS-UN (1975) study, what was the primary contribution of Kerala’s

educational policies?
(A) Promoted industrial growth
(B) Ensured universal higher education
(C) Promoted vertical social mobility across socio-economic strata

(D) Increased private schooling opportunities

65. The knowledge economy in Kerala is linked to :
(A) IT parks and higher education expansion
(B) Agricultural reforms
(C) Remittance flows

(D) Small-scale fisheries
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61. DoV JDeSTEIB,N BeTYR BBV LVTZD WroPHeh?
(A) DEDoWe (B) 23eed weFocdpe 23eed Bmocgpe
(C) SEWA (D) 23 D3Fe Seeds

62. ded waleend sdeer) <308 2021-22 O @590, 8e3¥3 3T ahTe Do (20e8TF) :

(A) 0 e0dh STeRONOB e, (B) 0 ead TTaTONOT BB
(C) 0 ead FoaROr FSre™ D)  meaereNe

63. 13 Se adoeaSab Soew, Teabnivd 8 B¥NIYInvd odrodad wdde?
A) D M T Tese 3ZE9
B) eBFo-2IJ e e:zt:iraerias &—’De)e%mb
(C) OB BeT¥o-BOTT e DB)R
(D) &3uef 80 LB

64. ABOTF-0WAR (1975) 0T 0HIT BB, BeTYR T, 8638 QedMY @B BT OD?
(A) B o0z L¥Sedriod evdedBeoNds
(B) ToSE3B eU3 3 B3FEaSY, WIBTBIUNT
(C) oxeBB-8RFE JONYY Low Toeedd BuddevBab, sVBeddJeroNT
(D) F3T 5o3N Toere TZIBMW

65. BeOYTO 2om BBFBS aYrivle od Fowos BeodS :
A) 268 TFEAD DR GVIB dge IFOH
(B) & DTCHAW
(C) @6 o BOI)
D) 3 IO DerbrOS
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66. Which of the following rights were emphasised in Kerala’s Transgender Persons’ Policy?
(1) Right to equality and freedom of expression
(i1) Right to dignity and life without violence

(i11) Right to employment and equal access to education, training and health

Options :
(A) (@) only (B) (@) and (i1) only
(C) (@) and (111) only D) @), 11) and (111)

67. Which crops in Kerala are most sensitive to fluctuations in the global economy?
(A) Rubber and spices (B) Cotton and jute

(C) Ragi and coconut (D) Sugarcane and tobacco

68. Kerala provides startups with early-stage support in the form of :
(1) Innovation grants
(11) Seed loans
(i11) Patent support
(iv) R and D grants
A) (@), (1), (111) only (B) (@), (ii1), (iv) only
©) @, ), (i), (iv) D) @), (v) only

69. Which of the following was more systematically developed in the 13t Five-Year Plan in

Kerala?
(A) Decentralised planning (B) Kudumbashree programme
(C) Child protection schemes (D) Gender budgeting

70. Ageing population in Kerala is considered a challenge mainly because :
(A) It reduces literacy levels
(B) It increases the dependency ratio
(C) It reduces life expectancy
(D) It leads to the migration of youth abroad
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66. Be0YE L 0BT FBNY Qe300 Bt BUAR WS BNV 2@ JBIINT?
() RSB ) DS 933033 B3,
()  BOmITBANT BIBAOT BeIDS B),
(i) vt ena B3, B3 36, B0 D) sdperd, TER B3eB

esad, % -
@) @ ans, ®) @) @3 (ii) @ns,
© @) @ (iii) ans, @) G, ) DB i)

67. BeOVT aing Y onds sBF330ON H09BNer S, Weg,meNG?
A) Tt ) Soeiried (B) B3 D) Fesew
(C) TN R SoARB D) B, DR Sowed

68. 3e0¥R) SFped@rient 8808 Bo3T ouwdI B YN TRITY wBNDIT :
@) mc.")edéé LIDTISNRY
(1) Qe JonK
(111) Seedoes LJowe
(iv) 0 DR B DTN
A) @), (i), (i) S5, B) (@), (i), (iv) 93
©) @, (1), (i), (iv) I, D) @, (v) 3,

69. Beo¥BY 133 Dodwodesd deeRIDY B BIYNIIYNYY YT, Ted), [BISDeN

B DBBBTNS?
(A)  ABeod)ed 3 adeedds (B) enowe Zoabeded
(C) 3% Bgme Adeedsdnw (D) Oort wede3®

70. 3eOYBY SodhTy, B BIT0ad0HRY, 20T JewreN BONEVUINT HB0TT:
(A)  ad TegTBab ey B, 3B FeD3T
(B) 2B 8000T VPDTIBIY, BLYDIT
(C) 2 BedzeBPADRY, 3B DI
D) 2D ITeBTO BHIBT IO FoTeITINHIBT
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71.

72.

73.

74.

75.

According to the Environmental Protection Agency (EPA), which one of the following is
the largest source of Sulphur dioxide emissions?

(A) Locomotives using fossil fuels (B) Ships using fossil fuels

(C) Extraction of metals from ores (D) Power plants using fossil fuels

Which is considered as the first Environmental movement in India?
(A) Chipko movement (B) Appiko movement
(C) Lok Satta movement (D) Narmada Bachao Andolan

Consider the following statements :

(1) “The Climate Group” is an international non-profit organization that drives climate
action by building large networks and runs them.

(2) The International Energy Agency in partnership with the Climate Group launched
a global initiative “EP100”.

(3) EP100 brings together leading companies committed to driving innovation in
energy efficiency and increasing competitiveness while delivering on emission
reduction goals.

(4) Some Indian companies are members of EP100.
(5) The International Energy Agency is the Secretariat to the “Under2 Coalition”.
Which of the statements given above are correct?

A4) (1), (2), (4) and (5) (B) (1), (3) and (4) only

(C) (2), (3) and (5) only D) (1), 2), (3), (4) and (5)

What is the primary goal of green auditing?
(A) To evaluate financial performance
(B) To assess environmental impact and sustainability
(C) To ensure compliance with tax laws

(D) To improve employee moral

What is the primary purpose of a wildlife sanctuary in India?
(A) To provide habitat for exotic animals
(B) To promote eco-tourism
(C) To conserve and protect wildlife and their habitats

(D) To conduct scientific research
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71.

72.

73.

74.

75.

@03 JodZme JoI (EPA) &303, 8 B¥NIINYY areded S00° &8 ;3 BeTI1IBod
ode dpg SweumeNd?

(A) BYIwEB ROFINTRY, wIDT eheedpedoeldar N

(B) BB R0FINTIY, IS BBHAW

(C) ©DDHRVOB dpeEn¥) BRTISriodnHdd

D) BFAWDE ROBINFRY, WIS ITT TSSO

00330 SpT0 SOJT BDSP dotd WreYBy, BOredSereNts?
A)  BFpe BRVIY B) ©dBre BLIY
(C) €iredTB BRI D) SDeme eI ee 30TRLVN

85 BYNS BePBNYIY DOMed -

(1) 0 3hees* Mo oot BRG woun¥R) ADFDS BRLE BN 3oHobD), SBDES
DB VYN, SBWS 03T, ead U19IBH3 ToFalraNI.

(2) ©o3TTdeodh 20T FoRPA BT THodIPoBT TwTIOBWY 2533 LVHZH
“EP100” =), &9,80DT.

(3) EP100 2033 Bz3obd e Zabdl) IY[W DI TROIRDIZ 383 mORYY
TRDTIN F oS, BB, BTN WFDNDS &PV SoBANYRY, WD MPBDST.

(4) B eddead Bozriwd EP100 8 86 oeNmgs.

(5) ©03BTTR e0dh VOB VoA “WOBT'2 2&8A,E"E F2aDrBdeodyaNG.

et AeBUT HeRBNYY oY IOyeNS?
A @), 2), @ DR (5) B) (1), Q) D= (4) 398,
© (2, 3) DR (5) T, D) @), @), 3), (4) D= (5)

BID 3, B0TRFI0D T9BDB 1O axb?
(A) B8 BaohegH3oDIY m’aoémm B
(B) =0T S0 B DATIARY, Aeae DT
(C) 301t 3o3PNY DITEDRY, BSBBIBRYLD
(D) RPB0T 3;3830hD, DryedTen

0BT Bec) 923RTEYT &BDB BureBTerD?
(A)  AQuzE TNVt esmrdm@ddd& LEADZHTD
(B) 0T Imecieer DB svZedDYHD
(C) BIReINTIR, CZHID D) VPYNY BDD TSP, ToTZDHDD
D) B8 FoTReFS IBDJD
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76.

71.

78.

79.

80.

Consider the following statements regarding Air Pollution and related initiatives :

(1) The “National Clean Air Programme (NCAP)” launched by the Government of
India aims to reduce particulate matter (PM 2.5 and PM 10) concentrations by 20-
30% in 131 non-attainment cities by 2024 (with 2017 as the base year)

(2) The “Aerosol Optical Depth (AOD)” data from ISRO’s satellites is used to monitor
air pollution levels over India

(3) The “System of Air Quality and Weather Forecasting and Research (SAFAR)” is
developed by the Ministry of Environment, Forest and Climate Change (MoEFCC).

(4) The “Polluter Pays Principle” is enshrined in the Environment Protection Act,

1986.

Which of the statements given above are correct?
(A) (1) and (2) only B) (1) and (4) only
(C) (2) and (3) only D) (1), (2), (3) and (4)

What are the key stages of the EIA process?
(A) Screening, scoping, impact prediction, mitigation and monitoring
(B) Impact prediction, mitigation and monitoring
(C) Screening, scoping and impact prediction

(D) Mitigation and monitoring

Which Act is considered as umbrella legislation for environmental protection in India?
(A) Wildlife Protection Act, 1972
(B) Environment Protection Act, 1986
(C) Forest Conservation Act, 1980
(D) Water (Prevention and Control of Pollution) Act, 1974

What are the primary sources of Particulate Matter (PM) pollution in urban areas and
what are the potential health effects of exposure to PM?

(A) Industrial emissions and vehicular emissions, with potential health effects
including respiratory problems and cardiovascular disease

(B) Agricultural activities and natural disasters, with potential health effects
including respiratory problems and cancer

(C) Domestic waste and construction activities, with potential health effects
including respiratory problems and neurological damage

(D) All of the above

What are the key considerations for sustainable infrastructure development?
(A) Environmental sustainability and social responsibility
(B) Economic viability and technical feasibility
(C) Institutional capacity and governance
(D) All of the above
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81. Which

of the following distinguishes structural mitigation from non-structural

mitigation in disaster management?

(A)

(B)

(©)

D)

Structural mitigation reduces human vulnerability through awareness, while
non-structural focuses on engineering solutions

Structural mitigation involves physical infrastructure measures, while non-
structural involves policies, planning and capacity building

Structural mitigation deals only with earthquakes, while non-structural deals
with floods and cyclones

Both structural and non-structural mitigation involve only post-disaster
reconstruction

82. In the disaster Management Cycle, which stage primarily focuses on building resilience
before a disaster occurs?

(A)
(©

B)
(D) Recovery

Preparedness Response

Mitigation

83. Which among the following is NOT a primary function of the National Institute of
Disaster Management (NIDM)?

(A)
(B)
(©)
D)

Capacity, building and training programs

Research and documentation on disasters

Commanding and deploying the NDRF

Developing national-level guidelines for disaster management

84. During the response phase, the Incident Command System (ICS) is crucial because :

(A)
(B)

©
D)

It centralizes all decision-making under the Prime Minister’s authority

It provides a standardized flexible structure for coordinating multiple
agencies at different disaster sites

It replaces local governance systems with military-led disaster response

It is primarily concerned with long-term rehabilitation after a disaster

85. Which of the following scenarios best demonstrates the difference between response and
recovery phases of disaster management?

(A)
(B)
(©
D)

Building cyclone shelters vs. issuing evacuation orders
Conducting mock drills vs. enforcing land-use zoning
Providing temporary shelters after floods vs. rebuilding permanent housing

Installing warning systems vs. distributing relief materials

-38- A



123/2025-K

81.

82.

83.

84.

85.

IBR ABFBHDO TBIB,3 SNVAIBM0E TETB,BTVE SAWABaDRY, & SYRRINYY

WRID T, L3VTE?

(A) Cum3,3 SNVAIZ ©BIR [eed BT DFVZHRY, 3B WY, STI
0rdre3,3303 BADABA ©0B3AWBOTT BOTITAY shees ZeodeBDIT

(B) Cume3,3 NI P33 ReuPabE ZIRVRY w¥reodD3T, oI
CUmIE,E808  SNVATA  AeBriW, (eSS DB DT BRI
29t oBABE

(C) TBm3,8 3NWAZ 2eBoBRLRoBr BRE, FIBOVTT BT CumIE,3IUT
BARABAY BTIBRWD B BoBERDIL 0BT BTBOVI

(D) TEe3,8 ) Sum3,3308 NI BT F0B0T FRIFRFHIRY, o3
2t oBAIT

BB IBFED UGB, IBH FoRIWS ST JBTIBIZ,FRY, ADFROIT Shee GRS B3P
TBLBTN BeoleBORIE?

@A) g B) B3Zb

©) SN=AZ D) 3e308

8 BYNIYNPO areycd oaé% ead BB ASeDE? FoFad (NIDM) w5933 Soodease)?
(A)  TRTE, ABreFed DHB) STeIed SooheZDNRL
(B) IBRNRY DOD JF0HReFS @) ToeTd
(C) oFRsT’axT 8863 QDI DA AadeeBdDRIHTD
D) BB ABeBEBMAN 033&&98033 DT Srerie YR DB QBBDYD

)330d BOBBY, T B85 FBT (DIATF) J@erabzmeNT HZ0TT
(A) 2D BPeI DodNY ©PZTT  BBWDY Uy APET  SRDBERRYIZDY

3203033

B) G BB JINYY W@ JoFvR Sozed[ew WD FIeedes)3 BPoDZRRYS
T3Sy, 2BNDIT

(C) add Joedd oBI3 JIIINYRY, DOId JeBFB DD B3 ahodeodrt
BB

D) 2D T9BLBTN IBST F0BT Ve Sdes YJIERAT BoWORIT

ABR) ASFBHOD B3GD D) $eB03 Bo3NY IDAIT FTUIBRY, B SYAR S IYSeBD
SN FBBERDIT?

(A) R BReS BOONYR) ADFRDPED vs. BYa030RE SreBrYR) QBB

(B) @eest Bef RYRy ST vs. we-v8 FudheB0HIRY, 290re S

(€) Booss S0V 339,08 BFADNYRY, LBNDID vs. 2933 BV WHSAFTIFE

D) o308 FBHrVRY TSVID vs. BOBIC TIRDANYRY ISR

-39- A



123/2025-K

86.

87.

88.

89.

90.

Which key principle differentiates the National Disaster Response Force (NDRF) from
the State Disaster Response Force (SDRF)?

(A) NDRF is under Ministry of Defence, SDRF is under State Police

(B) NDRF is centrally controlled and specialized, while SDRF is state-level and
adapted to local hazards

(C) NDRF deals only with natural disasters, SDRF deals with man-made
disasters

(D) NDREF is temporary, SDRF is permanent

The Sendai Framework for Disaster Risk Reduction (2015-2030) emphasizes which of the
following as its primary shift in approach compared to the Hyogo Framework?

(A) More focus on post-disaster humanitarian relief
(B) Stronger emphasis on proactive risk reduction and resilience building
(C) Exclusive concentration on climate change adaptation

(D) Prioritization of technological disasters over natural disasters

Which provision of the Disaster Management Act, 2005 legally establishes the State
Disaster Management Authority (SDMA)?

(A) Section 6 (B) Section 14
(C) Section 42 (D) Section 51

A city invests in building green infrastructure such as urban wetlands to absorb
floodwaters. In the disaster management framework, this is best classified under :

(A) Preparedness (B) Recovery

(C) Non-structural mitigation (D) Structural mitigation

Under International Disaster Response Laws (IDRL), what is the key challenge faced by
humanitarian relief organizations when entering a disaster-affected country?

(A) Difficulty in procuring international volunteers
(B) Non-availability of funds for local operations

(C) Lack of clear legal framework for customs clearance, visas and recognition of
aid providers

(D) Absence of modern technology in disaster-prone regions
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One of the key objectives of good governance is :

(A)
(B)
(©
D)

Maximizing state control over citizens
Enhancing transparency and accountability
Restricting access to information

Encouraging monopolistic practices

Which among the following is NOT a challenge for e-governance in India?

(A)
(B)
(©)
D)

Digital divide
Lack of awareness and literacy
Abundant multilingual digital resources

Infrastructure limitations

Incentivizing e-Governance is expected to reduce corruption mainly by :

(A)
(B)
(©
D)

Reducing human interface in service delivery
Increasing paperwork and manual checks
Strengthening middlemen’s role

Limiting access to grievance redressal

Match the following e—Governance initiatives with their objectives :

(1) e-Seva (a) Case information access
1) MCA21 (b) System Land records digitization
(i11) Bhoomi (¢) Corporate filing
@iv) e-Court (d) Online utility bill payments
(A)  (@-a), (ii-c), (iii-d), (iv-b) B) @-d), @i-c), (iii-b), (iv-a)
(C) (-b), (ii-a), (iii-c), (iv-d) D) @G-d), @i-b), (ii-a), (iv-c)

Decision Support System (DSS) differs from an Expert System in that :

(A)
(B)

©)
D)

DSS always produces the final solution without human input

DSS assists managers in semi-structured decision making, whereas Expert
Systems mimic domain expert reasoning

DSS is rule-based while Expert Systems are purely statistical

DSS stores only qualitative data, Expert Systems store only quantitative data
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Which of the following is NOT a provision of the IT Act 2000?
(A) Legal recognition of electronic records
(B) Provisions for digital signatures
(C) Regulation of cybercrime and penalties

(D) Guidelines for biometric Aadhaar authentication

A survey shows the impact of e-Governance incentives :

Citizen Service Satisfaction: Before 42% — After 78%

Reported Cases of Corruption: Before 38% — After 12%

Service Delivery Efficiency: Before 46% — After 81%

From the survey, which conclusion is most valid?
(A) Incentivizing e-Governance reduces efficiency but increases satisfaction
(B) Corruption cases increased despite efficiency gains

(C) Incentivizing e-Governance improved satisfaction, efficiency and reduced
corruption

(D) No significant impact observed

Kerala’s Akshaya Project is primarily associated with:
(A) Rural banking
(B) Citizen-centric e-literacy and service delivery
(C) Defense procurement

(D) Agricultural mechanization

Which of the following best explains the role of encryption in information security?
(A) It prevents physical theft of data centers
(B) It ensures only authorized parties can access the data
(C) It guarantees data will never be lost

(D) It eliminates the need for authentication

Consider this case :

A state government implements a new e-Tendering platform. Within a year, bidding
transparency improves, participation from small firms rises and cost savings are
achieved. Which governance principles are directly demonstrated here?

(A) Equity, Transparency, Efficiency
(B) Monopoly, Accountability, Accessibility
(C) Restriction, Control, Compliance

(D) Secrecy, Uniformity, Bureaucracy
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